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Déterminez F une primitive de f.

1)

2)

3)

4)

)

6)

7)

8)

9

10)

11)

12)

13)

14)

f(x) =6)c(3xz+l)2
f{x) :(2x—3)(x2—3x+1)5

f(x)=6x(1-x*)

S(x)=(1-2x)"

flx)=2x1-—
1

f(x) _(x—l)2

flay=—t 1,3

fx) =233

Flx) = 3x?

Réponses

F(x)=—(x*=3x+1)°
Pl =31
F(x) =—{1-2x)
F(x):x2+x+§
F(x) =

Flx) = 313 ’ 2i2 _414
F(x):x?2+%

PX) =3
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18)

19)

20)

21)

22)

23)

24)

25)

26)

27)

28)

29)

S(x) :(16x—10)(4x2—5x)2

fla) = =2
(x +x+3)
f(x)zx\/;

1
f(x)=$
f(x):x\/x2+1

1
f(x)Z\/_—ﬁ
L
f(x)=\/; I

F(x)=2x +2x

f(x):x\3/ax2+b, a#0

F(x) Z%\/X_SZ%)CZ\/;

F(x) =%3/x72
F(x) :% (x2+1)3 :%(x2+1)\/x2+1

F(x)z%x/?—%/_:%x\/;—%/;
F(x)zéé/x_4+é\3/?=§x3x+3\3/?
4 2 4 2
F(x):ix x+2x 2x
3 3
F(x) =i€/(ax2 +b)4 :i(a)c2 +b) Jax*+b
8a 8a
F(x)=2\/x2+x+1
F(x)=2v9+x’
F(x) =§\/5x3 +8

F(x) :§ (x3+x+2)3 zg(x3+x+2)\/x3+x+2
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30)

31)

32)

33)

34)

35)

36)

37)

38)

39)

40)

41)

42)

43)

f)=(x+2vx)

f(x) =cos(x)-+/sin(x)
f(x)= sin( 3x)
f(x)=14+tan’ ( 2x)
f(x)= 2sin( x) + 3cos( x)
f(x)=tan*(x)
f(x)= lcos( 4x)

2

f(x) =sin’ (x) -cos( x)

f(x)= Sin( x) -cos* ( x)

f(x)=cos’ (%j -sin (gj

f(x) =sin(x)(l—cos(x))

sin(x)
= ;
0 (l+cos(x))

f(x)= cos(x) —sinz(x) -cos(x)

f(x) _ COS( )C) :

(4sin(x) —1)

F(x):éx3 +2x° +§\/x75

F(x)z% (sin(x))3 zgsin(x) -,/sin(x)

F(x)= —%cos( 3x)

F(x)= %tan( 2x)
F(x)= 3Sin( x) —2cos( x)

F(x)=tan(x)-x
1 .
F(x) =§Szn( 4x)
F(x) —lsin6 ( x)
6

F(x)= —%cos5 ( x)

F(x)= —%cos3 (gj

F(x):%(l—cos()c))2

1
F)= 1+cos( x)

F(x)= Sin(x) —%silf(x)

-1
8(4sin(x)—l)

F(x)=

2
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44 f)=5—

x—1
x> —2x+4

45) f(x)=

(x+l)2

46) f(x)=

47) f(x) =

3x
x> +1

48) f(x)= lln( |x|)
X

49) f(x)=—22"1

x"—x-2

50) f(x)=

x' -4

51) f(0)=

52) f(x)=

53) f(x)=

54) f(x)=x-e"

55) f(x)=—
X

56) f(x)=x"-¢"

e\/ﬁ

37) f(x):\/ﬂ

F(x) =%ln(|2x—5|)

ln( ‘xz —2x+4‘)

F(x)= 2

F(x):§+2x+ln(|x|)

F()c)zln(‘x2 —x—Z‘)

-4

F(x) = 2

F(x) = In] |in(|x])|
F(x) =In|cos x|
F(x)= 2ln( v +x+1\)
F(x)= %e’fz
F(x)=—¢"

1
F(x)==¢"
()3

F(x)= e



